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I/ Calculs. 

1°) Calculer : cos
5

3
 et tan

5

3
  sachant que : sin

5

3
 = 

4

5210 
 

2°) En déduire : sin
10


 et cos

10


. 

 

II/ Simplifier. 

 

 A = cos
8


 + cos

8

2
 + cos

8

3
 + cos

8

4
 + cos

8

5
+ cos

8

6
 + cos

8

7
 + cos

8

8
. 

 

 

III/ Equations 

 

1°) Résoudre sur ]- ; ] : sin 









4
2


x  = cos x. 

2°) Résoudre sur ]- ; ] : sin x . tan
2

x
 = cos x. 

3°) Résoudre dans R : 2.cos4 x + cos2 2x + sin2 2x + 2.sin4 x = 
4

9
 

 

 

 

IV/ Inéquations 

 

1°) Résoudre sur ]- ; ] : 
2

1

3
cos 











x  

 

2°) Résoudre sur ]-2 ; 2] : sin x + sin 2x  0. 
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